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Alg. Unit 7 Study Guide

Multiple Choice

Identify the choice that best completes the statement or answers the question,

1 Which of the following is the graph of the solution
setof m>—1landm<1?
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2 Which inequality has the solution set shown in the
graph?
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A y<l1
B y<1.
C y=>1
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3 Which inequality has the solution set shown in the
graph?
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4 Determine which of the ordered pairs are a
part of the solution set for the inequality
graphed below.
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A @1
B (1,30
C (-3,-3)

D (-2,-3)
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5 Which of the following is the graph of the solution
setof y<-3ory<1?

A
—4-8=-2-1 01 2 3 4
//B/
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b

—4-3-2—-1 012 3 4

6 Which compound inequality has the solution set
shown in the graph?

—-1-2=1 0 1 223 4
A ~l<n<2
B2

C—rnz=Torn<2-
D -1<n<2
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7 Pete’s grade on a test was within 5 points of his
class average of 94, What is his range of grades on
the test?

A g58%org=99
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C g=28%o0rgz=99g

D g<%org<89
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8 Which inequality is graphed below?

¥
] ,e'."‘ t
ttl.“t!_a '.i*""’{z 24

;,*”E 13
Ayt
—B—y=2x+1
C <l +1

Y%

9 Six is at least four more than a number. Which
inequality represents this sentence?

A 62n+4

G o> o2
C 4<n+6
D 4=zn+6

10 More than eighteen students in an algebra class
pass the first test. This is about three-fifths of the
class. How many students are in the class?

A less than 30
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C  more than 30 )r\ 730

D 25
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11 Phillip has between two hundred and three
hundred baseball cards. Which inequality
represents this situation?

(A 200 <p <300

B 200> p>300
_C__p<300-0rp-<200-

D—=200-and>300
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Short Answer
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Solve the inequality and graph the solution..
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Solve the compound inequality and graph the
solution sel.
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Simplify the expression,

20 Ox+8(6x+2)

Bx+ o

The formula for the perimeter, P, of a rectangle is
P =21 + 2w, where £ is the length and w is the
width.

21 Solve the formula for the perimeter of a rectangle
for w.

wi_-;_mp_,m oc W=P . L
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22 Leo’s electric car needs to be recharged every 280
miles, so it should travel no more than 140 miles
from the charger. If he drives at an average speed
of 50 miles per hour, what is the length of the time,
t, he can drive away from the charger and then still ‘
make it back without running out of energy? S s

X +49.3 f' T
gfb\(\(‘:ﬁ

23 Write an equation for the line that passes through
[1 2] and [3 7]. ‘What is the slope?

27 Use a graph to solve 2x — 3y <6,

*7 5_25%)(—3
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Mm=Q

28 What inequality has the solution set shown in the
graph?

YO i T
AL x|

24 Determine whether y =4x+5 and y = %x -2 are ; il
LN

perpendicular, Explain. d

(o - S\opes are. 1
verse oud noY eppoite ~

25 Write an equation of the line that is parallel to the
graph of y = —4x + 2 and passes through (2, -4).

W=t

it 28




